22 E Higr& Al
SAXA Cr 9]
HAHIIELE foy 22 MPa
HE Bt s 3.00 MPa
ANHE HIZE G, 3.10
=e =M =0 X 25 mm
=2 2M HIS G, 2.60
& STe TEE FM 2.60
& ST HIE G 2.55
232l E slump 13 cm (E5.15&=x)
=l 1.5 % (HE5.19&X)
S3tH & 0 %
bH e & Al
* S-AUE H 28 :f, =fy + 1.84xs 2 f, = (fo —3.5)+ 2.33xs= 2 U2 2 &tC}.
for = fox + 1.34%xs = 26.02 | MPa
fo = (fox =3.5)+ 2.33xs =| 25.49 [ MPa fee= | 26.02 | MPa
for = 26.02 MPa
0. YFLYETE JIELZ 8t 8=
fog = =21 + 21.5XC/WZRH C/W = (fgt21)/21.5 = | 2.187
S-AIBE "l W/C = [0.4573
o. URHS JIZEC2 8t B2 2l S-AME H W/C= | 045 | (HE516&EX)
o. =¥HES NHGt= B2 EU S-AMUE Hl W/C=| 0.55
ZHst 2-AMHE Hl W/C= | 0.45 = 0.45
* AeSM Z X+ 2B L2 2H 2F6HH - H5.19
tel == W= 175 kgf (T8 E2.8 2-Z&MHI55%, =8
EZSTHE S/a = 41 %
S A= 1.5 %
* BHEtAl AtE2ot= &t2liEl SI1E2 28 eSS 2&6t)] ?lofl &dct= gt &4
2ot= &= S/a' = 41 %
2ol=s BIE A = 1.5 %

I80mm)



a| = [jH SktAd j;”

:1_):
—
NS X8 :28 Z2-AIME H 055 slump:8cmE JIEez BAGHH
£ 4 S Aot AE2MWE (%) | 912 (ka)
2o XEE S/a=S/a+ (FM-2.8)/0.1x0.5 40 175
slump gt W =W + (slump-8)/1x0.012xW 40 185.5
S| 1%8r3 2(22)Hottt 23 40 185.5
&2 2 W =W + (S/a'-S/a)/1x1.5 40 185.5
S-AlUE H] S/a =S/a + (W/C-0.55)/0.05% 1 38.00 185.5
* L ZME S/a = 38.00 (1% * Ch =2 W(kgf) = 185.5 kaf
* CERIAIUE 2 C=C/WxW = | 412.22 = 412.2222  kof
* B BUEX a(m’) = 1-(W/(1000xG,,) + C/(1000xG,) + Air/100) =| 0.6665 | m?*
= 0.66652509 m?
* Ch ZrB M S(kof) = axS/axGs =  0.6459  tonf = 645.86 kaf
* G2 F2 SMWE Glkgf) (1-S/a)xGg = 1.0744 tonf = |1,074.44 kaf

* TR AENIE = AUHIE S22 =LA % = 0 kaf

* &2l EAIY
can|samo |2z |ens|zans 8 9 ¥ (kt/m)

ORI € | g |[8wW/e)| Sa | 2 |yue|mzy| 2eEMe | =an=
(mm) (cm) (%) (%) (%) W C S of | mm |2 =atH
25.00 | 13.00 1.5 45 38 186 | 412 | 646 | 1074

* 150mmXx150mmx530mm & A &M MAE = 11925 cm® = 11.925 ¢
* O100mmx200mm 2AIMSl & = 1570.796 cm® = 1.5708 4
* O150mmx300mm 2AIMS HE = 5301.437 cm® = 5.3014 4
& A = 18797.283 cm® = 18.797 4
* Slump Mold(®100mmx®200mmx300mm)<2| M= 5890.485 cm® =  5.8905
* 2Rt AIgHMe I EAISH 1 i RBE2LE AIEA - 2 I
A=LT AIE (D) 2 bl =SS ESEE 25669 cm® = 25.669
*» B8t 2delE M&A = 28,236 cm?® R0l CHet Al = 28.2
31.06005( £ (10% GiR= X&)
*» B8t Z3clE 0l et 2 S 2l & (3l&A 28| 2 ?
e EEECI BRI BN R 2 A 2 (atim)
O] = | g |uwWe)| Sia | 2 |ywe|mzy| BS2EMG | =am=
(mm) (cm) (%) (%) (%) W C S of | mm |23
25.00 | 13.00 1.5 45 38 576 | 12.8 20.1 ] 33.4







